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4 % 1. If h(z) = arcsin(1 — z), find h'(z). ;
%) = darcsin () fioe) = e
9[?0) = [— j%c) >
£ () 4'0e)
-
= C
I~ )
-y - ~ |
Vl?(i——'x)z | @rﬂ‘"”‘gf?{&'x?) ﬁ;““_"’:‘;“‘%
2. Consider f(z) = w—_?,—l‘, where f'(z) = oo and f"(z) = 6(:53; 2). By creat-
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ing a sign chart, find the intervals where f(z) is concave up and concave down.
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3. You are standing on the roof of a building which is 15 m tall. You throw a marble

4 L 0 down from the roof at 5 m/s. How long will it take to hit the ground?
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4. Solve the initial value problem f'(z) = z* + 4z — 3, f(2) = 0.
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